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QUESTION 1

An administrator has received complaints from several mobile and remote branch office users regarding performance.
Users report extremely slow access when connecting to the company VPN to take backups and snapshots. 

Which solution overcomes this issue and allows end users to backup and synchronize devices to the datacenter without
a VPN? 

A. VMware Horizon Security Server 

B. VMware View Composer 

C. VMware Mirage Gateway 

D. VMware vRealize Automation 

Correct Answer: C 

 

QUESTION 2

An application needs to be deployed to corporate employees to assist them with daily administrative duties. In order to
comply with corporate policy, the application needs to be verified to identify common application risks, such as access to
privacy settings and insecure network connections. 

Which VMware AirWatch product provides this capability? 

A. App Catalog 

B. App Reputation Scanning 

C. Mobile device management 

D. App Wrapping 

Correct Answer: D 

 

QUESTION 3

An administrator needs to deliver corporate virtual desktops to end users globally. Currently, users traveling between
branch offices complain or slow access at certain locations. Which VMware Horizon technology will provide a high
quality end user experience, regardless of the user\\'s location? 

A. VMware Horizon Cloud Pod Architecture 

B. VMware vRealize Operations for Horizon 6 

C. VMware Workspace 

D. VMware Blast with HTML Access 

Correct Answer: C 
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QUESTION 4

A company wants to deploy VMware Workspace Portal in its environment, but is concerned that users will be able use
unauthorized applications. Which mechanism of VMware Workspace Portal prevents this behavior? 

A. Authorized user credentials are detected from Active Directory. 

B. Unauthorized access to applications is detected and the administrator is notified. 

C. User attributes are detected and policies are enforced across applications. 

D. Access to applications by default is not allowed. Each user must request access via the interface. 

Correct Answer: C 

 

QUESTION 5

Which type of disk architecture does Virtual SAN leverage? 

A. Hierarchical disk architecture 

B. Shared disk architecture 

C. Parallel disk architecture 

D. Hybrid disk architecture 

Correct Answer: B 

 

QUESTION 6

A medium sized company wants to deploy on-premises desktops and application a unified workspace. The company
has chosen to deploy Virtual SAN and offer a unified workspace. 

Which VMware Horizon edition does the company need to purchase? 

A. VMware Horizon DaaS 

B. VMware Horizon Enterprise 

C. VMware Horizon Advanced 

D. VMware Horizon View Standard 

Correct Answer: C 

 

QUESTION 7

An administrator is using VMware Mirage to create a base operating system image, but is concerned that deploying this
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operating system to different types of hardware can cause many problems. 

What two tasks can an administrator implement to avoid this issue? (Choose two) 

A. Use a specific Application Layer driver during deployment. 

B. Create operating system image via Sysprep with all pre-installed drivers. 

C. Deploy, maintain and use a Driver Library. 

D. Allow users to install their own drivers and applications. 

Correct Answer: AC 

 

QUESTION 8

Which technology allows users to access VMware Workspace Portal using any desktop PC, MAC, IOS, or Android
device? 

A. Adobe Flash 

B. Microsoft Silverlight 

C. HTML5 

D. Java 

Correct Answer: A 

 

QUESTION 9

Which key element of VMware Horizon Desktop as a Service (DaaS) given as an IT administrator access to an
administrative portal from which they can manage the virtual desktop environment? 

A. Security 

B. Enterprise Integration 

C. Tiered Role Separation 

D. User Experience 

Correct Answer: C 

 

QUESTION 10

An administrator receives a trouble ticket reporting a low vRealize Operations for Horizon 6 score value on an object (for
example, 15 out of 100). 

Which course of action should the administrator recommend? 
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A. The value indicates a severe problem state, a red badge, and this should be investigated immediately. 

B. The value indicates a normal state and since there are no real Issues or current problems, no action should be
taken. 

C. The value indicates a less severe state, a yellow badge, however this object should be monitored and should be
flagged for investigation if the value changes. 

D. The value of a badge must be correlated with the color of the badge to determine if the state is normal or if there is a
potential problem. 

Correct Answer: D 
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